
Subject: CONVOL : no subscripting with POLYFILLV?
Posted by Tom Wassenaar on Fri, 22 Jan 1999 08:00:00 GMT
View Forum Message <> Reply to Message

I'd like to use polygon vertices directly to determine the image subset
to convolve, but is it right that CONVOL only operates on simple square
subscripts ?

a simple example :
ENVI> a = findgen(10, 20)
ENVI> kernel = fltarr(3, 3) + 1
ENVI> b = convol(a[2:8, 4:15], kernel, total(kernel))
; this works fine !
ENVI> x = POLYFILLV([2,2,8,8], [4,15,15,4], 10, 20)
ENVI> b = convol(a[x], kernel, total(kernel))
% CONVOL: Kernel's dimensions are incompatible with  operand's.

WHY ?
--

 ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½
Tom Wassenaar
INRA Science du Sol, 2 place Pierre Viala
34060 Montpellier Cedex 02, tel. +33 (0)499612764
Mï¿½l : wassenaar@ensam.inra.fr
 ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½ï¿½
ï¿½ï¿½ï¿½

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=2705
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=8981&goto=14108#msg_14108
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=14108
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

